
Reconstruction of  200, 000 K L+ p  →  Ks + p  with uniformly distributed K L 
momentum using reaction filter

hd_root --nthreads=8 -PTRIG:BYPASS=1
-PEVENTRFBUNCH:USE_TAG=KLong
-PVERTEX:USEWEIGHTEDAVERAGE=1 -PVERTEX:USE_KLONG_VERTEX=1
-PPLUGINS=monitoring_hists,ReactionFilter
-PReaction1=10_14__16_14
-PReaction1:Flags=B0_M16

(1) Meaning of Flags=B0_M16 ? 

Number of events in the  filtered  tree_ks__B0_M16.root 
=11,429 out of 200,000  generated reactions
Klong   0.1>T GeV (p>)



“...__P4_KinFit” used to calculate 
EM(𝝅+ 𝝅-)     for Ks 
MM(𝝅+ 𝝅-)    for p
MM(𝝅+ 𝝅- p) for X

“X4_Production” used to show
Reaction vertex xyz coordinates(?)
and time (beam TOF?)

True PID?

=1 mostly



MM(𝝅+𝝅-p)/GeVEM(𝝅+𝝅-)/GeV MM(𝝅+𝝅-)/GeV

MM(𝝅+𝝅-)/GeVEM(𝝅+𝝅-)/GeV

#Ks=~10,000
𝜎=5 MeV

#Ks=~2,000
with cut
𝜎=5 MeV

#p=~2,000
with cuts
𝜎=12 MeV

KL    Momentum/GeV/c

#KL=~11,000
Out of
200,000
generated
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EM(𝝅+𝝅-)/GeV

EM(𝝅+𝝅-)/GeV

#Ks=~500
𝜎=5 MeV

#Ks=~270
with cut
𝜎=5 MeV

#p=~270
with cuts
𝜎=5 MeV

MM(𝝅+𝝅-)/GeV MM(𝝅+𝝅-p)/GeV

KL    Momentum/GeV/c

#KL=~500
Out of
200,000
generated


